Name

Solving Linear Systems
by Linear Combinations

— Quick Review

1. Align the equations with like terms in columns. gﬁ_ 2§ - 110 (Multiply by -2)
2. If needed, multiply one or both of the G- Ty =2
equations by a number so that there are v 2%+ 2y =10
opposite coefficients for one of the variables. B .=
3. Add the equations. Solve for the remaining x=1
vatiable. B +y= 1
4. Subsiitute the value from Step 3 for that y=#A
variable in either of the original equations. Solution: (1, 4)
Solve for the other variable.
. ' S “X+y=1 ox +2y =10
5. Check your solution (x, y) by substituting the e+ a1 2o +2@) £10
x and y values in the original equations. 1=1 10 = 10

Use linear combinations to solve each linear system.
Then use the answer code to reveal a message.
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1. 2X'¥"3y:7
: 4)('"3}/:5

Sotlution: ( 2—2 i ) | E

2 4x+ Sy=16.
“4x - 10y = 4 : : : . \;‘;7
C9-4)

Soluton: >4 '/ | ¥




3. Bx—2y =10
AIX+2y=8

Solution: M

4, 2x+4y=8
-5x + 4y = 1

Solution: _éf_)l!iL

5 33X+ y=8
X+ 2y =1

So]gtion: 3 - f
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7

6. Bx—-3y="4
B3X+by=9

Solution: ‘(;%ﬂll :

7. X —-5y =25
2X+4y:2

Solution: (S f?)




